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PROBABILITY

Sujet D7 - 6

The first part of this page is a summary that can help you to do the exercise below.

Probability is the likelihood of an event happening. If a trial has a number of equally likely outcomes and among these certain ones are successful, then :

probability of a successful outcome = 
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For any two events A and B, you must remember these formulae:

P(A or B) = P(A) + P(B) – P(A and B).

If A and B are complementary, then P(B) = 1 – P(A).

If A and B are mutually exclusive, then P(A and B) = 0 and P(A or B) = P(A) + P(B).

If A and B are independent, then P(A and B) = P(A) 
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EXERCISE 

The table shows the smoking habits of 1200 people. Find the following probabilities correct to two decimal places.

	
	Male
	Female

	Non-smokers
	298
	334

	Moderate smokers
	155
	172

	Heavy smokers
	149
	92


If one person is picked at random from the 1200 people, what is the probability that the person is:

(a)     (i)  
a male ?
(ii) a non-smoker ?
(iii) a moderate smoker who is a female ?
(iv) not a heavy smoker who is a male ?
(v) not a moderate smoker ?

(vi) either a non-smoker or a female ?

(b)  If two people are picked at random from the 1200 people, what is the probability that:

(i) they are both female ?
(ii) one is a non-smoker and the other one a heavy smoker ?
(iii) one is a moderate smoker and the other one is a male ?
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